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1 , EE AR
i o+ (plus)
& — (minus)
3= ~ (difference of)

5 %,- (multiplied by)
B =, — (divided by)
BB «“/ ~ (nthroot oi")

2 Bk RFEE
Z R = (equalto)
F & > (greater than)
AR < (less than)

3. & /-% - H
#£ 8 —— (bar, vinculum)
$#% 38 () (paren.hesis)
#2 () (bracket) ’
T { } (crace)
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# .. (hence, therefore)
K . (sincs, because)

I 2t 2 i ¢ (ihe unit of imaginary number)
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e

~— & 3% Linear expression

— % ¥ # 3t Equation of the
first degree

— 356 — & F B % Simple equa-
tion

—
—

L

= Z& 5% Quadratic expression’

— %t F 2 3 Quadraiic equation

:.;jc 3% ¢ 3 Quadratic homoge-
neous

— 353 Binomial expression

= 3E # 3% Binomial surd

=

=

—
—
—

Trinomial

=
=& F & 3 Cubic equation

ﬁ?

=
34 3% Inequality

R PR Sord

P E Mean

&} Common ratio

% 3% Formula

2 B BE)- Common factor

£ 2% Common difference

2 % B4(%) Common multiple

& ¥ %) Common measare

5t Element -

% ‘F XNumerator

b iin Denomimitor

4 #(%) Fraction

% 3 B & Fractiongl equation

4 1% H X Factorization ’

F+ 5 Ascending powers

T % To vary inverselyas

B4k R = A i, Paseal’s fri-
angle )

J7 42 5% BEquation, The equation of
condition

J %2 st Z & Side (membey) of the
equation

¥ 5= 5 24 Roobof the equation

F 35 8¢ Tndex
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o "@‘ij’pﬁ ()

- M Ratio

ik % Propartion

. 9 &5 Proportional

S g W Proporsional raean

M @533 2% 3 Blimination by com-

parison
HEFRRK Literal equation
i F

& At =3 Elimination by sub-
stitution .

fu % Algebra

1R %’2‘{ =; Algebraical expression

£ % 25 3¢ Algebraical sign

BBt Algebraical number

foBkE 8 Algebraical function

in ¥ Addition '

im 848 F § Elimination by addi-
tion and subiraction

pq 2 & 3% Biguadratic equation

v % Square

Z % 48 Square root

7 34 i Mean value

535 Extreme

sk %138  Unknown ferm

#* 5 1}5{‘3 Dnknown number

3k # Last ferm

& & TPiincipal

A F#H Amount

iE IH Positive term

jE 82 Positive sign

IE 1 Positive roof

#4728 31 Rabional roof

E ",@t Posiiive number‘

IE £ To varyas

FE Vji’ £ 3% Incondistent eguae
tions

it & Cube

iz 54 Cube root

-t
7N

o

%8 Bt Point of intersegsion

4t #5 5%  Conjugate expressions

HEp B lConjugate ecomplex nume

bers
& % To vary jointly hs
[l #x 42 =% Surd of th¢ same order
B 23 Equivalent quua.tions}
[ %5 ¥ Like term
[d 38 M 5% Similar sara
A (=) Factor
42 & Apnuity
% 3% Polynomial cpmpound ex-
pression
% 7 4 Rationalization
# 3 & 72 5% Rationsl equation-
77 # 3% Rational exprassion

% %= It Rational number

% Degree, Order

i 8 #: i Convergeng saries
47 #] 3% Determinant

+

&1 3 3% Discriminant
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# &  Interest

7] 28 Rate

& Base

& & % Perfect squafe
& £  Codrdinates

& FE fh  Axes of codrdinates
0

p==%

N

B B¢ Function

Fl Sum

5 % Definition

. £ ] Law, Rule

% B¢ ©Odd numbsr

¥ B 44 5% Symbols(signs) of prop-
erly i

# B Rule

H i F & Linear equation

B # 5% Linearexpression

ik ¥l #f Approximaie value

he=2ad

7L

Coefficient
Anfacedent
Consequent

£

B ®

%A

3% I8 Parenthesis

i 8¢ Index, Exponent

£ B s ) Lawof index

%5 &35 Identity, Identical equa-
tion

# Table

71 ¥{ Negativo form

BT

H 282 Negative sign.

#H % Negative nuniber
sscending powers

% 15 First term

+

%€ % Involution

S =R(G Multiplier
5 ¥ Multiplication
E ﬁ Product -~

# 2% Multiplo
] =)
{f Value
J 2 Origin

& B =% Expansion

2% Differencs )

#8 3 Elimination

# Rook

#£ 3 Bt Index of root
# =% Radical

£% 5t Progression, Series
BB HNE0 Minuend

Reciprocals

| 3% 5 2¢(xR) Mulbiplicand
2 B B0

Dividerd

8 5% Sign, Symbol

R ZE % Complebing the squars
Ex ¥ Division

[ %230 Divisor

+

B Mantiss;s

many. Sida
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5 B Evennumber
7 5R)  Quotkient
l‘éj ¥ Problem
% F 2 % Common logarithm
“% Bt Constand
% Bt 1§ Constant term
%3 % %% Reduced fraction
¥4 Condition
P &3 Condiilonal inequal-
ity
# 3§ Transpose
§4 H; ) Continued proportion
3 4 % Continued fraction

+

B 4% Unié

5 # & Simple interest

& fi] Geomelry

3 T th $0H) . Geometric mean

% ] 5% B¢ Geometric progressiozi
(series) ‘

& /b & 45 %% Least common mul-
tiple ' *

=

154 f£5% Lowestcommon mul. |

tiple

% K 4 ¥ Ot Greatest common
measure

5 & B X Highest common
factor ‘

& 15 & % 1 Lowest common di-
visor

& G5 3 Irreducible fraction

4z 2. 7% Irrational expression
£ 3 Irrational root

438 B Irrational number
4m 3 F 2 5% Irrational equation
4% 535 ﬁ %t Infinite series

4 R X -nfinity

i ¥ Subfraction

& B Subtrahend

% % % Bt Divargent series
4 Imaginary root

i % TImaginary number

& 3% Equality, Equation

2 5 B SR B T8 BD
LCELHRAEHESR

@ 2 7§ Absolute ferm

¥ %45 Absolute value

B8 &3 Absolule ineqx;ality
g Axis

5  Quantity

B8 % Evolution

1/ Term

. IH B Number of terms

+ =8
£ [B Limib
#% B {i Limiting value
§# Solution

$L &£ Operation

T & 44 5% 'Symbols (signs) of op-
eration

B i ¥ Lower term

s Zero
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mo®

Bl Figure

% fZ % %2 st Graphical solufion
of an equation ' -

BEH#

g4

Real rook

Real number

2 % Logarithm

# % Arithmetic .

B {5 & B Arithmetie (arithmeti-
eal) progression (gsries)

% 4% o B{GH) Arithmetic mean

# 8t Complex number

¥ 3k 3% Homogeneous expression

¥ % & # 5% Homogeneous equa-

tion

-

F==n

+ E

i 78  Additional root, Exftraneous
roofi

& Number

e FER Numerical equation

Bt ¥ Numerical value

B #22 Mathematics

%% 1% B¢ Numerical coefficient

WA o Bi(R) Harmonic mean

& M £ % Harmonic progression
(serieg)

+

% Power

b

oL
7N

£z

R

¥ 3% Integral expression

B 5C F 3 % Integral equation
¥ % Inbeger, Tntegral number
4% 37 25 8t Independont variable
% |/ 3% Monomial '
%3 @& Monomial facto

#/ Prodact

% 9#5(z%) Remainder

=

+ *
fif # 5% Simple radiesl
% 5 %) Complex fraction
B 52 F#2 3X Simultaneous equa-

fion
B 3r — X FE 3 Simultaneous
equation of the first degree

B 3 = 2k F & Simultaneous

quadrabic equation

=
=

+

¥ & Check

A

T L '

B 4% #F £ Symbols (signs) of rela.

tion

i,

B

=T

21y Variable

"E19% 3% Varintion
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